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Instructions :
e
() R 9IS T@R: @UST: |iw |
T Y99 | IR @US 2|
There are four sections in this questions paper.
(i) ufcEvsq IAMOT ggg YSdEM SIYEAHRT A= EAT |
Y% @US & SX YU A T3 SaR-giad | & faed €|
The answers have to be written in a separate answer-sheet.
(i) 9P @IS SATUHT I THRAT T FHHOT TGN | 0
T v & T A W W A § fra @) ()

The answers to each section must be written at one place.
(v) 99O I T @ | \ g
IO W IR T o1 |

Don't write answers in the question paper. O

(V) USTHEAT YSUSATIERT SFATH @A |
YT-I &% SAIER U GE&T A &
Write the question number accordin

(Vi) ST AT STRIOT H&ha
il gl & IR Hq&ha H

Answer all the questions in

e gelestion paper.

gvus: & (Section A)
[-SaSiey (Srafea-sraatem)

nseen Reading Comprehension 15 3ick:

[ afden TeYe YUk TETaT ST Stid—

EN

[ STl T TeahR fQU U gl % SR gUdR & T Sae-qiaedr §

the following two passages and answer the questions in the given answer-sheet :
) gaH: Irgese:

S GHSET STagd Beotar | afe 9 wEaq dME g9 g, ey FRaR
UTSA:, T8 TR A A< Hafd | alG JgHq AGRH  AM<H SWH: die
ATHILHET ST FeEal ®ard | [aer g=em, o9 I=8Mm, WE I, 99d
TBM | TEE Ja @, O Id N | 7] U9 hadEn B9 |
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52/1

EESIE

THIe IO

Th g% H I ENT

Answer in one word : Yox4=2
() e FE g

() @ w2

(i) STar STET P HLOMAT ?

(v) = Mgk &% qread: ? O

oof ae § I A .
Answer in a complete sentence : 1x1=1

sAferepTierRy o= uteg a9 foh f gam ¢

et &(b’o

TTEST I ST

Answer as directed :

() ‘@t sk fagmt

ox4=2

() ‘g s 17
(i) ‘seq ua : 7 fa a e sTEmdey ?
v) ‘gep fomr e 37 ?

¢

: [ AT | WEd AMEAETTE ST guiey SR | AN

T IR | SATHHE §82dT §d ST 8= Hafwd | 7 JAf | A
[ AT e S9ed | WA S| aqedtasr:, ggputarer, fhoar aden
D S IRt | WAl g SaqgiieRT: ged | &Een fases s | W e
FAT TEET: AY TS| Ag: ofiae: A | R auiEn: fosa: At o
gatead ared Fresta | weqenfr fawatd | 9Y YR IS | SR g
I SAEI: ST | AT AT (Ut~ | Semehl: dfdd qegar STeprsl Igera= |
Fagd A geTey Gwaql T4 St UIAQ: | ofd: e argane Siged
ERERETUCE
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EESIE

. UHYSH IO ¢
Uh = H I ST
Answer in one word : 1x2=2
() wamr S gierr: {6 gl
(i) R BT oA ?

Il YofErRe STRd - C)
9 AR H IR I R
Answer in a complete sentence : @ 1x4=4
() g 6 frrsfa ¢ 0
(i) wougd ®: WA 2 @

@) e G e o '&

(v) SATHE: FHIH AR TN 2

Do as directed ;

Yox4=2

. genfde™ I : @
JATHEYT I T +

IV. o sf@ed Bd gqfad dive forad |
Tq owE & fau Sug e fafad |
Write a suitable title for this paragraph. 2
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@vs: g (Section B)
TEATHEHIY, (TATHD-Hr)
Writing Skills 20 3:
2. qEAEq : 5x10=5

el AT | el JEIRIaarg Uk G “IIhedIaasy @igd qiodadl | T8 T&ihe,
B @i ge Juatd | aedf faRad o Asquredus: RREr 49 faag )

MY AT § | T TR ¥ U [ IIheadEd daed gl 21 39
BT 3T SO afe foar & w997 @ ¥ 1 39 oy 8 o ™ ou

iU MU 9 § WX w g faigw)
You are Sunita. You borrowed a book 'Chatukulya-Satakam' fror%brary. You are

sending a photo-copy of the same to your sister Smita. Fill in the blanks e following letter
written to your sister Smita in that context with the help of wo en i the box and rewrite

the same.
() T. 10, fwrTRY
%’ ()
& [ENIEGH

o= (i)
q&E I | 2

T FATA HIAT atfa (iii) | adt fafaded
I AT HEHTHAT S  qfedd, TBfT | FAT TEFREAT TLBEATATRT
(iv) Vﬁ‘%ﬁmgﬁlﬁnw) qH Jal q dIST ST
T e P rfrr o (vi) RIS IOTH | qSTqTe HaedT:

wfr: | wq e | e AT g (vii)__ |
(ix) Y GOTHTSSI: {eesaT |
ST FEfHeRT 9T,
)
ST

qIr:, s, faad, s |

52/1 5 P.T.O.



3. WARQE 1x5=5
HSoUIYEdiedl Sefdiad qare Qe g foed —
TsoOT § & T8 uReal @ geEar § e qare & el g faRaw —

Complete the following dialogue with the help of the statements given in the box and
re-write in your answer-sheet :

TFHET HIST TG AULTH ARTRSE: AhdT TEOR TEfq & | | STeh 993, El

. O

S Gt St g o 0
T — () R
TRE: —  (BE) W oy@! @ SaeE Gqin 1

7?
T — (i) %
TRE:  — SR ! 99 Saae ol = (F&UzeRdl: geedn) garfdsT ST ?

e — (i)

TRE:  — @ el 9 d%wﬂar aef: T |

Tt —  (iv)

IRE: — ¢ J AAEd| Ty gEeid | b R WO A S

O, T S, | F 00 |

o T: Y FEfAS AT | FHEAT AehT ATAATH, IS WA |
o {2 AfE, 318 T Ufdfe ARAIT ToAT THIH |

o T 7 WM foha? Afe @ 9 TROHE S T |

o Uy ULAd, USE: ATGYRIU: IA: | 3T T Hiecl i |
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4. AT 2x5=10

AR HeIddl Aifdiad o Is9 depday avEd —
T[T & UGl I WEEdl § Sreifarad [ &1 aui gt S&hd arei § #ify —

Describe the following picture ifive Sanskrit sentences with the help of words given
in the box:

|, wHfai, #v8 @ : UR STATER:, IeagErd afsed |
L 4

g (or)
had geTaawl:
(CECIEEEINCRT LY
For Blind Candidates only

(g: arry ey of fawe e Wt T A e | weman

< |

AL IADY AAER TH o W qepa § qiw ae falaw | gemar & foe aseon
IR A

Write five sentences in Sanskrit GIiers™: STeiy HAER:’ You can take help from the
words given in the box.
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HST

TAUILY, STy, AR, JIehr:, Teddd, GasH s9E:, Qe afssar:,
A, e, Iagan arsadr:, e @R, J9, IS sEat,

il A |
=10
@vus: T (Section C)
AIITATETR (FIIIH ATHT) O
Applied Grammar 0 30 3
5. STifiREAy ATy TRy Aty ar e 1x3=3
faliaa aet o e 9ei § atume/aty —
Rewirte the underlined words of the followin e in your answer-sheet after
joining/disjoining sandhis :
() @ + g guufa: SgEy SHEH | K
(i) ¥ TSR AlTe |
(i) o @Sty Fgisd %al
[ &W IY R fored | 1x4=4

/1%!‘5 e IOt | fofEy |

Y AHgE Rl TSEHEoT MM |
(i) @ HE: UH: T P T T4 ?

(v) STEr! 9 3 g ?
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7.

HISH Yed THaIFA ASaer g G forad | 1x5=5
Fied H QU M0 gHiq-ge=i & Sigd d=s H g1 od |

Rewrite the passage after joining suffixes to the roots or words given in brackets.

ITd:Tel FE=e S4T @ (i) (B, ) | Sfter S (i) (T +

Iq) ST THT W&t | T @ (i) (sha@r, @) srgwaf= (iv)

(&1 + 39) TYTEROT A | STt (V) (w+a®am@w@

Yal: STFUe: Rae e ider a4 o | () 1x5=5
QU T g el ¥ R el W ari w I faiaw )

Rewrite the following sentences after filling in the blank uiftible indeclinables.

0 frem i o ()

IO TT IRYRIRET fomd — 1x3=3
frfaRaa ﬁ%www,mﬁérw_

the following dialogue and write the answers in the answer-sheet
Arata ! fpq st Wie HEfa?

M Aa: | SAfataty: wiee (i)
At ! b e 1fy o= sufawfa 2

qedr — 9! (i) T T UL |
LSEEIE — At f& A s st
qradr o — s A (i) ST |
52/1 9 P.T.O.



10. STl

11.

[aNEaN

TR STEHMT T GEpaey 9999 StRyRasdl foad — 1x4=4
FrfaRad wrEisRd § S5l & T W HEhd |l 4§99 IOy § fafag —

Indicate the time as shown in the following schedule in Sanskrit words in the
answer-sheet :

() 6.15 dEq AfTAHAM ARHAE, FTAqA |
@) 730 FE B | O
@) 8.15 @ HiFEIT |

(v) 10.00 TEY FHYTH | @ r'S
Q ox4=2

ALY AR BT T TG AT ST

Frfetiiad arert § Sfehl & e W GEhd b

Write numerical Sanskrit adjectivesggl pl f figures in the following sentences.
O @ _ 4 ar @

M __ 3 = am*p'@ﬁn

(ii) 2 T qed: |

TRl e el e g fomd — 1x4=4
AR Bl HAMET b el hl G gy —
Correct the following senctences and re-write them in the answer-sheet :

o e ST =R g, o, ssfater: st v, 3 e qes e
T, O S TEh |
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@vs: g (Section D)
yfsa-srastasy (afea-sastieam)
Reading Comprehension 35 3i:

13. sefafad TEne, e, AeAy F gl YEqueHE IOl SydwE fomd —
=g Tenar, Teisr SfR ATeAieT #r ggat AU 10 yedi & SR StR-qyraer § fafgu—

Read the following prose, poetry and drama passages and answer the given q jonS¥p the
answer-sheet :

(%) e
I 3 YHEEET: | A’ SR g ud sifar sfa T,
AT A | A s B, SgEe = A B T
Tl Hfd aifeq | Ty 3 A sfa wead | S Mo TaeTd T | o
TWER G HOE T omiems et | ey o o
LELIE

l THTET S %, Yox4=2
Uh & § S SN ¢ &

Answer in one word :

() <Al T & R
@) onRar 9@ ?
@iy e oEfa 1 ?
(v) < T fop fomafa 2
Il qofarR= : 1x1=1

a complete sentence :

wdfor fob fob el R

BRIIEEN G ISR T Yox4=2
TEsT ST ¢

Do as directed :

O vgEd sfa w= ue fageon e

() T FYTHE AT AT I FAATIIS HEH YFR ?
(i) fomafr sfa framesr 6 #gueq °

(v) ‘o S gH@EiEar =i AR fhq stemgued 2

52/1 11 P.T.O.



(@) wensm:
AER: G G, TAg fagul o= |
TG &G TeER, Joransiy fagea: 1)

LECIE
.  UHdEd WA ¢ =2
Uh & § S SN ¢

Answer in one word :
() o g SER 3fd e g O

(i) TEG ® W ()

Il. oS SR * 1x1=1
o e H I AT @

Answer in a complete sentence :

AR M & : AT HOar ? ()
. e I@a : & Yox4=2

FenfEer IR it

Do as directed :

() ‘gem sfdwE ?

@) S 7
(i) T ST YR ?
(v) H@@ TR YR ?

qEfe SAT9aET: AT | 7 H SEEWA 7 hReEfd |
afe T I = Fgi | U SUSSE ST | Uhal ERaIYT

TS | e Tl | Gagashd Jrarsed |

(FTgTe™) HS THT 3 |

Hrepo: A T HUT AE @ FETe I | At & 9 e, g,
O, ek AT THME, TR T |

gferfee: —  qaEd: |

O —  F g THAT AE | BT THH (A IR F G GIOET qh

Terdar fbg @ aq 9% W Saraagd A gee: JreeEd |
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PRSI
. UHYST IO ¢ Yox4=2
Uk g H IW &N
Answer in one word :
() A igwi feoq sEmEd 2
(i) AT BT YOO <k BT ?

(i) LI HE IYCIT IFEE: A ? O

(v) raeemr fF gwEr Ry sTaseq

Il. oS SR () 1x1=1

qof R § S AR @ *
Answer in a complete sentence :
BT EOYAE o o T aaR: vaq %
I, ey SoRa & Yox4=2
TSI TR &

Answer as directed :

)

(i) factes ot wgF ¢
(i) | fop 2
) o gews ggay

14. M SugEws: [ g fed — 3+3=6

TR  HIF! WA T A | |

e

(i) & | ST | AR I uad (i) Sl Ty ST | B
Tq 99 Hatq W= afe @ g g (i) FH:, [ 9 qam:, 9@ T
Taq a9 Hg T |
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Il ST B e deE|, 99 91 |
HYF G & A RO 2 woer U | |

oraref:

FHAE T AR Rgd Tafagaq asad fhq? (i) , = (i)
T & T TR fRom: =g sfidar: =fa a5 9 q, (i) uq |

15. sEifataquegas o R g fomd — Ol 1%=3
Frfafad & well & stei & QT & g fafay —
Complete and re-write the prose order renderings of the following tw

. fee & Rea: sewrse foaemn: ) 4
g B agsd [adaata: | |

Hqg:

ﬁi%aqzrrﬂq(l) ﬁqﬂamﬁ?&% Gy  feemR

(i)

. SmaEEEEEd, e o
FIE JTEHE, TT6

Her (i) (3Te), I qTed 3TTed,

16. UGN TSl Fod | 1x4=4
e"E‘ TDE MR W gH-fHHor Hiforg -

rane questions on the basis of the underlined words :

T T T Qi
(i) MU TR T G A |
(i) @ g aw)

(v) fageeg srer 3red |
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17.

18.

52/1

FATRAART  STeNfiRadaren q: A foad — Yox8=4
TSR & AR faiad arerl B g e d fatar —

Re-write the following sentences in the sequential order :

) F=gfE g T A o |

(i) T HURE & HE Her g A |

(i) WART wieq qARY TH: FEfT-AT: ! g R U ggar ¢

(v) @ sifo<aq - T o e JaEr T8 T | O

(V) UdRET YSaHrEaE S g S | ()

(V) UBTHRE: B SN Ied: AfCGH SR | @,

(Vi) &: I T IR FHAan |
(vil) T Fhewar WAl e - &F OrE, SEE ®/e ()

JHSER @iisdhaded J&q g foaar a 1x3=3

TET & STAR W@iihd 9al & & A |

Write the meaning of the underlined S stiitable to the context.

. 3TE IS g A ST |

() greT (i) =T
Il. & 9999 Th SEECH
(i) enfiem |
(i) e fer:

15





